

Producer and Consumer using Semaphore
#include<stdio.h>
#include<pthread.h>
#include<semaphore.h>
void producer()

int  n,item=5;

void consumer();

sem_t,full,empty;

void main()

{


pthread_tp_thread,c_thread;


sem_init(&empty,0,1);


sem_init(&full,0,0);


pthread_create(&p_thread,NULL,(void*)&producer,NULL);


pthread_create(&c_thread,NULL,(void*)&consumer,NULL);


pthread_join(p_thread,NULL);


pthread_join(c_thread,NULL);


sem_destroy(&full);


sem_destroy(&empty);

}

void producer()

{


int  i;


for(i=0;i<item;i++)


{



sem_wait(&empty);



n++;



printf(“\n Producer : %3d \n “,n);



sem_post(&full);


}

}

void consumer()

{


int  i;


for(i=0;i<item;i++)


{



sem_wait(&full);



n++;



printf(“\n Consumer : %3d \n “,n);



sem_post(&empty);


}

}

Output :



[student@localhost ]cc_lpthread producer.c

Producer : 1

Consumer : 1

Producer : 2

Consumer : 2

Producer : 3

Consumer : 3

Producer : 4

Consumer : 4
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